Name MTH 1000

Worksheet 1.3
Given two points: (x,,y,) and (x,,Y,)

The slope m between the points is: m =22

Xo—Xq

The slope-intercept form of a lineis: y=mx+b

A line of the form y = c is horizontal with a slope of 0

A line of the form x = cis vertical with an undefined slope

Two lines are parallel if their slopes are the same

Two lines are perpendicular is their slopes are opposite reciprocals

1. Draw the graph of the line represented by the following equation:

2y+x=8 \*\ |

2y =—X+8

y=—2x+4

2. Find the slope-intercept equation of the line through the points: (~2,1) and (3,11)
m= L :EZJ‘—OZZ
3H-2 3+2 5
y=mx+b=y=2x+Db
]=2[-2]+b=1=-4+b=b=5

y=2X+5

3. Find the equation of the line that passes through the point (15,—3) and is parallel
to the line y = £x+3
y=2x+3=>m=2%
parallel = same slope=m =2
y=mx+b=y=2x+b
[-3]=2[15]+b=-3=6+b=b=-9
y=2x-9

4. Find the equation of the line that passes through the point (6,4) and is
perpendicular to the line y =-3x+1
y=-3x+l=m=-3%
perpendicular = oppositereciprocal slope=m=+3
y=mx+b=y=1ix+Db
[4]=4[6]+b=4=2+b=b=2
y=3Xx+2



Find the equation of the line that passes through the point (15,—3) and is parallel
to the line y =3

Given line is vertical, so need vertical line through (15,-3)

y=-3

Find the equation of the line that passes through the point (6,4) and is
perpendicular to the line y =-1

Given line is vertical, so need horizontal line through (6,4)

X=06

Find the x and y intercepts of the line x —3y =12

x-int, set y=0
x=12

y-int, set x=0
-3y=12

y=—4



